Chemical immobilization practice problems

Refer to table 1 on page 126 in your text to determine the correct dosage for each species.

1.  You need to immobilize an 18 kg coyote using Ketamine.  The concentration of the Ketamine is 50 mg/ml.  How much Ketamine (in cc) should you give the coyote?

2.  Given the above information, how much Ketamine (in cc) would you give the coyote if the concentration of Ketamine was 100 mg/ml?

3.  You capture a large male black bear in a culvert trap and need to immobilize the animal to attach a radio collar.  You estimate that the animal weighs 236 kg.  You decide to use a combination of Xylazine HCl and Ketamine HCl.  How much of each of these chemicals (in cc) will you use assuming that the concentration of Ketamine is 50 mg/ml and Xylazine is 100 mg/ml? 

